
© INUX3D 2022� V1.1

Assembly Instructions

Biodegradable according 

to DIN EN ISO 14855

MADE IN EU

8 586022 660566

TUV

T
U

V
 H

e
s
s
e

n

EN ISO 
9001
2015 ADDITIVE MANUFACTURING

® 

BLK

PROStreamer YP
Cage for YoloBox Pro

BLK

PRO
Streamer YP
Cage for YoloBox Pro

ADDITIVE MANUFACTURING

® 
8 586022 660566

Lower Strut Assembly 

All of the fasteners required for assembling this component are found in Bag 2. 

Bag 2 contains 4 x M4*8mm bolts, 4 x M4 Hex Nuts and 4 x M2.5*6mm bolts

Ÿ Flip the entire assembly on it's back so that the undersides are visible. 

Ÿ The lower strut assembly comprises of 4 parts, 2 Left and 2 Right. Each part is 

marked L or R 

Ÿ Using the M2.5x6mm bolts you will now join both the Left and Right lower 

struts together to form a longer strut. The M2.5 bolt will pass through the bolt 

hole on the Left part and you will screw directly into the plastic of the Right 

part. 

Ÿ You will perform this step twice, creating 2 lower struts.

M2.5x6

M2.5x6

M4x8

M4x8

M4x8

M4x8 Rubber Foot

Rubber Foot

Rubber Foot

Rubber Foot

Front Right Strut

Front Left Strut

Ÿ We will tighten the Top Left and Right bolts as well as the lower strut bolts to 

stiffen up the entire assembly.

Ÿ Position one of the lower strut assemblies into the notches under each of the 

Left and Right sides. 

Ÿ Insert an M4*8mm bolt from below and place an M4 hex nut into the nut 

shaped recesses and loosely tighten the protruding bolt. 

Ÿ Repeat for the second lower strut assembly. 

Ÿ Attach the 4 rubber feet in the positions indicated in the diagram above.

DO NOT OVER TIGHTEN. 

Biodegradable according 

to DIN EN ISO 14855

MADE IN EU8 5 8 6 0 2 2 6 6 0 2 5 2

Compatible with the ATEM Mini Extreme 

and ATEM Mini Extreme ISO

INUX3D
d e s i g n s t u d i o

TM

TUV

T
U

V
 H

e
s
s
e

n

EN ISO 
9001
2015

5

INUX Cloud s.r.o.

Galvaniho 12B

Bratislava 82104

Slovakia

Assembly Instructions

This product was produced with an additive manufacturing process. Minor surface imperfections do not affect the overall product functionality.
Instagram: @aaronpk_tv  | Twitter: @aaronpk 

You can also get support and show off photos of your rigs in our friendly community at 

forum.livevideotech.today

Thanks so much for your support! I hope this stand makes your productions even more 

successful. I'd love to see a photo of your new rig! Post a photo on Instagram or Twitter and 

tag it with #pk1stand  

- Aaron

Parts of this product were produced with an additive manufacturing process. Minor surface imperfections do not affect the overall product functionality.

Biodegradable according 

to DIN EN ISO 14855

MADE IN EU

8 586022 660566

TUV
T

U
V

 H
e

s
s
e

n

EN ISO 
9001
2015 ADDITIVE MANUFACTURING

® 

BLK

PROStreamer YP
Cage for YoloBox Pro

BLK

PRO
Streamer YP
Cage for YoloBox Pro

ADDITIVE MANUFACTURING

® 
8 586022 660566

Biodegradable according 

to DIN EN ISO 14855

MADE IN EU

8 586022 660566

TUV

T
U

V
 H

e
s
s
e

n

EN ISO 
9001
2015 ADDITIVE MANUFACTURING

® 

BLK

PROStreamer YP
Cage for YoloBox Pro

BLK

PRO
Streamer YP
Cage for YoloBox Pro

ADDITIVE MANUFACTURING

® 
8 586022 660566



© INUX3D 2022� V1.1

PK1 PRO STREAMER YP
Assembly Instructions Page 2 of 5

Begin by placing the left side of 
the YP Cage smooth side down 
with the cold shoes facing you

The left side is indicated by the 
‘L’ embedded in the part

You are looking at the left rear 
of the YP cage

Place your YoloBox Pro into 
the side of the cage so that the 
screen is facing away from you

You must now choose the final 
orientation of your YoloBox Pro 
so the HDMI cables point up  
( to the right in this image ) or 
down ( to the left in this image )

A

A

B

B
Insert the 2 aluminium bars into 
the corresponding spaces in the 
YP cage

Important: 

Slide 2x M5 sliding T-Nuts for 
the handle here

Slide 2x M5 sliding T-Nuts for 
the CheeseBar tripod mount 
hereExample

* �Please note that your kit comes with extra M4 and M5 nuts and 
bolts so you can attach other accessories you may already have



© INUX3D 2022� V1.1

Place the right side of the 
YP cage over the top of 
the YoloBox Pro and the 2 
aluminium bars 

Drop in two of the supplied 
M5x10mm bolts, into the holes 
to affix the right side of the YP 
cage onto the aluminium bars

These only need to be lightly 
tightened. You will damage the 
plastic sides if you tighten with 
force

Place your hand underneath 
the left side which is currently 
at the bottom

Flip the entire YP cage over while 
pressing the sides together so 
the left side is now on top

Drop in 2 more  M5x10mm 
bolts into the holes and lightly 
tighten

Position the YP cage as shown 
and note the 2x M5 slide in nuts 
you dropped in earlier

We will be attaching the top 
handle to these two T-nuts

PK1 PRO STREAMER YP
Assembly Instructions Page 3 of 5



© INUX3D 2022� V1.1

Place the handle on top of 
the YP cage and very loosely 
tighten the 2x M5x10 bolts into 
the T-nuts

Now that you have both bolts 
attached, slide the handle left 
or right to centre it

You may now tighten the bolts

A
This is simply a zoomed in 
view of how a cable manager 
assembly should look once 
attached

PK1 PRO STREAMER YP
Assembly Instructions Page 4 of 5

2

3

1 Attaching the cable managers 
requires the use of an M4x8mm 
bolt through the cable manager 
and into an M4 drop in nut.

Note that the nut fits into the 
slot of the aluminium bar

1. �Place the bolt through the 
cable manager hole and very 
loosely into the drop in nut

2. �Position the drop in nut so that 
it fits into the slot of the bar

3. �Tighten the bolt so the drop in 
nut turns and locks into place 
at the position you require



© INUX3D 2022� V1.1

Attaching the cheesebar is like 
the handle and utilises the two 
slide in nuts we inserted earlier

We will attach bolts to the two 
T-nuts that are visible here

A

Using 2x M5x8mm bolts, we will 
lightly attach the cheesebar to 
the slide in T-nuts

Once both bolts are attached 
to the nuts, slide the cheesebar 
so that it is centred along the 
aluminium bar

You may now tighten the bolts

In the event you place your 
YoloBox Pro such that the HDMI 
cables are pointing downwards, 
position the cheesebar so it 
only covers the aluminium bar 
and not the YoloBox Pro.

The HDMI cables will now be 
clear of the cheesebar

PK1 PRO STREAMER YP
Assembly Instructions Page 5 of 5

Congratulations on completing 
the assembly of your PK1 Pro 
Streamer YP


